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1. ÁõÛÜμÛ ¾Ûé¶¿Ûäºéõ�˜ÛÁõá•Û¶ÛÛ× ˜ÛÛé¸Û¦øÛ¾ÛÛ×¬Ûà 31-3-07 ¶ÛÛ× ÁõÛé›÷ ¸ÛæÁõÛ ¬Û©ÛÛ× ™ö ¾ÛÜÐü¶ÛÛ¶Ûà ¾ÛÛÜÐü©Ûà ¾ÛéÇÈÛÈÛÛ¾ÛÛ× 
…ÛÈÛà ™öé …¶Ûé ©Ûé ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ™öé. (20) 

     (Äõ. '000) 

¾ÛÜÐü¶ÛÛé ›÷¬¬ÛÛé 
(…é�õ¾ÛÛé) 

…μÛÙ˜ÛÜÅÛ©Û ¸Û¦ø©ÛÁõ 
(ÄõÛ.) 

˜ÛÜÅÛ©Û ¸Û¦ø©ÛÁõ 
(ÄõÛ.) 

ÜÍ¬ÛÁõ ¸Û¦ø©ÛÁõ  
(ÄõÛ.) 

…Ûé�¤øÛé. 06 200 50 30.00 12 
¶ÛÈÛé¾¼Û. 06 216 52 32.40 12 
Ü¦øÍÛé. 06 240 56 36.00 12 
›÷Û¶¿Ûä. 06 376 76 56.40 12 
ºéõ¼Ûóä. 06 352 72 52.80 12 
¾ÛÛ˜ÛÙ 06 304 64 45.60 12 

  …Û¸Û¶Ûé �õÐéüÈÛÛ¾ÛÛ× …ÛÈ¿Ûä ™öé � éõ : 
 (i) ¶¿Ûæ¶Û©Û¾Û ÈÛ•ÛÙ¶Ûà ¸Û±ùÜ©Û¶ÛÛ× …ÛμÛÛÁéõ …μÛÙ˜ÛÜÅÛ©Û ¸Û¦ø©ÛÁõ¶Ûé ÜÍ¬ÛÁõ ¸Û¦ø©ÛÁõ …¶Ûé ˜ÛÜÅÛ©Û ¸Û¦ø©ÛÁõ¾ÛÛ× 

›ä÷−ùÛ ¸ÛÛ¦øÛé. 
 (ii) …éÜ¸ÛóÅÛ 07 ¾ÛÛ× 350 …é�õ¾ÛÛé¶ÛÛ× Š©¸ÛÛ−ù¶Û¶ÛÛé …×−ùÛ› ™öé. 350 …é�õ¾ÛÛé¶ÛÛ× Š©¸ÛÛ−ù¶Û¶Ûà �äõÅÛ ¸Û¦ø©ÛÁõ 

•Û¨ÛÛé.  
 (iii) Ü¶ÛμÛÛÙÁõ¨Û •Ûä¨ÛÛ×�õ¶Ûà •Û¨Û©ÛÁõà �õÁõÛé. 
 (iv) ¸Ûó¾ÛÛÜ¨Û©Û −ùÛéÌÛ¶Ûà •Û¨Û©ÛÁõà �õÁõÛé. 

…¬ÛÈÛÛ 
1. (…) ˆÌ¤ø©Û¾Û Š�éõÅÛ …é¤øÅÛé ÉÛä× ? ÁíõÜ”Û�õ …Û¿ÛÛé›÷¶Û¾ÛÛ× ©Ûé �éõÈÛà Áõà©Ûé ¶Û‘õà �õÁõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ? (5) 
 (¼Û) ÁíõÜ”Û�õ …Û¿ÛÛé›÷¶Û¾ÛÛ× …ÈÛÁõÛéμÛÛé¶Ûà ½ÛæÜ¾Û�õÛ. (5) 
 (�õ) •Ûà©ÛÛ ÜÅÛÜ¾Û¤éø¦éø ¾ÛÐü«Û¾Û ¶ÛºõÛé ¾ÛéÇÈÛÈÛÛ ¾ÛÛ¤éø ˆÌ¤ø©Û¾Û ¸Ûé−ùÛÉÛ Ü¾ÛËÛ ¶Û‘õà �õÁõÈÛÛ ¾ÛÛ×•Ûé ™öé. ¸ÛÁ×õ©Ûä 

� ×õ¸Û¶Ûà …¾Ûä�õ …ÈÛÁõÛéμÛÛé …¶Ûä½ÛÈÛé ™öé. ©Û¾Û¶Ûé ¼Ûé ¸Ûé−ùÛÉÛÛé …×•Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé …Û¸ÛÈÛÛ¾ÛÛ× 
…ÛÈÛà ™öé …¶Ûé Ü¶ÛμÛÛÙÁõà©Û Š°éùÉÛÛé ÐüÛ×ÍÛÅÛ �õÁõÈÛÛ �éõ¤øÅÛÛ …é�õ¾ÛÛé¶Ûä× Š©¸ÛÛ−ù¶Û �õÁõÈÛä× ©Ûé¶Ûà ÍÛÅÛÛÐü 
…Û¸ÛÈÛÛ¶Ûà ™öé. 

   � ×õ¸Û¶Ûà ¼Ûé ¸Ûé−ùÛÉÛÛé •ÛÛ¾ÛÛ …¶Ûé Ü¼Û¤øÛ ¼Û¶ÛÛÈÛé ™öé. � äõÅÛ ¸ÛóÛ¸¿Û �õÅÛÛ�õÛé 2,700 ™öé. …Û ¸Ûé−ùÛÉÛÛé 
¼Û¶ÛÛÈÛÈÛÛ ¼Ûé ”ÛÛÍÛ ¿Û×ªÛÛé¶ÛÛé Š¸Û¿ÛÛé•Û ¬ÛÛ¿Û ™öé. ÈÛ¸ÛÁõÛÉÛ¶ÛÛ× �õÅÛÛ�õÛé …¶Ûé …¶¿Û ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé 
¸Ûó¾ÛÛ¨Ûé …Û¸ÛÈÛÛ¾ÛÛ× …ÛÈÛà ™öé. (10) 

 

… 
(�õÅÛÛ�õÛé) 

¼Û 
(�õÅÛÛ�õÛé) 

…é�õ¾Û −ùà¥ø 
ÈÛé˜ÛÛ¨Û Ý�õ¾Û©Û 

…é�õ¾Û −ùà¥ø 
˜ÛÜÅÛ©Û ”Û˜ÛÙ 

•ÛÛ¾ÛÛ 3 6 25 18 
Ü¼Û¤øÛ 6 5 28 22 

¿Û×ªÛÛé 

¸Ûé−ùÛÉÛÛé 
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2. (…) “ÍÛäμÛÛÁéõÅÛ ¸Ûó¾ÛÛ¨Û …¶Ûé ”ÛÁéõ”ÛÁõ ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û …Û¿ÛÛé›÷¶Û ÜÈÛ˜ÛÅÛ¶Û ©ÛÁõà� éõ …ÛéÇ”ÛÛ¿Û ™öé š¿ÛÛÁéõ 
¾ÛæÇ½Ûæ©Û ¸Ûó¾ÛÛ¨Û …¶Ûé ÍÛäμÛÛÁéõÅÛ ¸Ûó¾ÛÛ¨Û ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û �õÛ¾Û•ÛàÁõà ÜÈÛ˜ÛÅÛ¶Û ©ÛÁõà� éõ …ÛéÇ”ÛÛ¿Û 
™öé.” ©Û¾Ûé …Û ÜÈÛμÛÛ¶Û ÍÛÛ¬Ûé ÍÛ×¾Û©Û ™öÛé ? Š−ùÛÐüÁõ¨Û ÍÛÜÐü©Û ©Û¾ÛÛÁõÛé ›÷ÈÛÛ¼Û ÍÛ¾Û›÷ÛÈÛÛé. (5) 

 (¼Û) ¶Ûà˜Ûé …Û¸ÛéÅÛ ¾ÛÛÜÐü©Ûà¶ÛÛ× …ÛμÛÛÁéõ ”ÛÁéõ”ÛÁõ ¶ÛºõÛ …¶Ûé …¸ÛéÜ“Û©Û ¶ÛºõÛ ÈÛ˜˜Ûé¶ÛÛ× �õÛÁõ¨ÛÛé −ùÉÛÛÙÈÛ©Ûä 
¾ÛéÇÈÛ¨Ûà ¸ÛªÛ�õ ©Ûí¿ÛÛÁõ �õÁõÛé. (15) 

ÜÈÛ•Û©ÛÛé …¸ÛéÜ“Û©Û …é�õ¾ÛÛé 
80,000 

”ÛÁéõ”ÛÁõ …é�õ¾ÛÛé 
70,000 

 ÄõÛ. ÄõÛ. 
ÈÛé˜ÛÛ¨Û 64,00,000 58,80,000 
   

¸Ûó©¿Û“Û ¾ÛÛÅÛ ÍÛÛ¾ÛÛ¶Û ¸Û¦ø©ÛÁõ 25,60,000 25,20,000 
¸Ûó©¿Û“Û ¾Û›æ÷Áõà ¸Û¦ø©ÛÁõ 8,00,000 7,56,000 
˜ÛÜÅÛ©Û ÜÉÛÁõÛé¸ÛÁõà ”Û˜ÛÛÙ 12,80,000 12,60,000 
ÜÍ¬ÛÁõ ÜÉÛÁõÛé¸ÛÁõà ”Û˜ÛÛÙ 3,20,000 3,36,000 

   …¶¿Û ¾ÛÛÜÐü©Ûà : 
ÜÈÛ•Û©ÛÛé …¸ÛéÜ“Û©Û ”ÛÁéõ”ÛÁõ 

¾ÛÛÅÛ ÍÛÛ¾ÛÛ¶Û¶ÛÛé ÈÛ¸ÛÁõÛÉÛ (Ü�õÅÛÛé) 4 4 

Ü�õÅÛÛé−ùà¥ø ¾ÛÛÅÛ ÍÛÛ¾ÛÛ¶Û (ÄõÛ.) 8 9 

…é�õ¾Û−ùà¥ø ¾Û›æ÷Áõ �õÅÛÛ�õÛé 5 4.50 

�õÅÛÛ�õ−ùà¥ø ¾Û›æ÷Áõ −ùÁõ (ÄõÛ.) 2 2.40 

¾Û›æ÷Áõ �õÅÛÛ�õ −ùà¥ø ˜ÛÜÅÛ©Û ÜÉÛÁõÛé¸ÛÁõà ”Û˜ÛÙ (ÄõÛ.) 3.20 4.00 

…é�õ¾Û−ùà¥ø ÜÍ¬ÛÁõ ”Û˜ÛÙ (ÄõÛ.) 4 4.80 

…¬ÛÈÛÛ 

2. ÈÛ©ÛÙ¨Ûæ�õ …ÛμÛÛÜÁõ©Û ¼ÛμÛà ›÷ ¸Û¦ø©ÛÁõÛé¾ÛÛ× ÈÛμÛÛÁõÛé ¬ÛÈÛÛ¬Ûà ¸ÛÛé©ÛÛ¶ÛÛ ¶ÛºõÛ¶Ûé ›÷ÛÇÈÛà ÁõÛ”ÛÈÛÛ ¾ÛÛ¤éø ÜºõÅÛà¸ÍÛ 
� ×õ¸Û¶Ûà …é ¸ÛÛé©ÛÛ¶Ûà ÈÛé˜ÛÛ¨Û Ý�õ¾Û©Û¾ÛÛ× 05/06 ¶Ûà ÍÛÁõ”ÛÛ¾Û¨Ûà¾ÛÛ× 06/07 ¾ÛÛ× 25% ¶ÛÛé ÈÛμÛÛÁõÛé �õ¿ÛÛë Ðü©ÛÛé. 
…Û ½ÛÛÈÛ ÈÛμÛÛÁõÛé ˜ÛÜÅÛ©Û ¸Û¦ø©ÛÁõ¾ÛÛ× 20% ÈÛμÛÛÁõÛé …¶Ûé ÜÍ¬ÛÁõ ¸Û¦ø©ÛÁõ¾ÛÛ× 15% ÈÛμÛÛÁõÛ¶Ûä× ¸ÛÜÁõ¨ÛÛ¾Û ™öé. 
ÈÛé˜ÛÛ¨Û …¶Ûé Ý�õ¾Û©Û¾ÛÛ× ÈÛμÛÛÁõÛé �õÁõÈÛÛ ™ö©ÛÛ× 05/06 ¶ÛÛ× Äõ. 27.5¶ÛÛ× ¶ÛºõÛ ÍÛÛ¾Ûé 06/07¶ÛÛé ¶ÛºõÛé Äõ. 9.5 
¬ÛÈÛÛ ¸ÛÛ¾¿ÛÛé Ðü©ÛÛé.  (20) 

   …¶¿Û ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé …Û¸ÛÈÛÛ¾ÛÛ× …ÛÈÛà ™öé : 

2005/06 2006/07 
ÜÈÛ•Û©ÛÛé 

(ÄõÛ. �õÁõÛé¦ø¾ÛÛ×) 
ÈÛé˜ÛÛ¨Û 300 324 

˜ÛÜÅÛ©Û ¸Û¦ø©ÛÁõ 250 287.50 

ÜÍ¬ÛÁõ ¸Û¦ø©ÛÁõ   22.5   27 

 ©Û¾Û¶Ûé ¶ÛºõÛ¶ÛÛ× –Û¤øÛ¦øÛ¾ÛÛ× …ÍÛÁõ μÛÁõÛÈÛ©ÛÛ× ÜÈÛ˜ÛÅÛ¶ÛÛé¶Ûà •Û¨Û©ÛÁõà …¶Ûé ÜÈÛÊÅÛéÌÛ¨Û �õÁõÈÛÛ¶Ûä× �õÐéüÈÛÛ¾ÛÛ× …ÛÈ¿Ûä 
™öé.  



MC-II-03 3 P.T.O. 

3. (…) ¶ÛÈÛà ¸Ûé−ùÛÉÛ¶ÛÛ× ÍÛ×−ù½ÛÙ¾ÛÛ× “‹˜ÛÛ ½ÛÛÈÛ ¶ÛàÜ©Û” …¶Ûé “¶Ûà˜ÛÛ ½ÛÛÈÛ ¶ÛàÜ©Û” ÍÛ¾Û›÷ÛÈÛÛé. (8) 

 (¼Û) ÈÛé˜ÛÛ¨Û Ý�õ¾Û©Û ¶Û‘õà �õÁõ©ÛÛ× ¸ÛÐéüÅÛÛ μ¿ÛÛ¶Û¾ÛÛ× ÁõÛ”ÛÈÛÛ¶ÛÛ× ›ä÷−ùÛ ›ä÷−ùÛ ›÷ÄõÁõà ¸ÛÜÁõ¼ÛÇÛé ˜Û˜ÛÛë. …Û 
ÈÛé˜ÛÛ¨Û Ý�õ¾Û©Û ÍÛÛ¬Ûé �õ¿ÛÛ ¸Û“Û�õÛÁõÛé ÍÛ×¼Û×μÛ μÛÁõÛÈÛé ™öé …¶Ûé ©Ûé…Ûé …Û Ü¶Û¨ÛÙ¿Û ¸ÛÁõ � éõÈÛà Áõà©Ûé …ÍÛÁõ 
�õÁéõ ™öé, ©Ûé ÍÛ¾Û›÷ÛÈÛÛé. (12) 

…¬ÛÈÛÛ 

3. …Ü¶ÛÌÛ ÜÅÛÜ¾Û¤éø¦ø ¼Û›÷ÛÁõ¾ÛÛ× ¶ÛÈÛà ¸Ûé−ùÛÉÛ ¾Ûæ�õÈÛÛ ÜÈÛ˜ÛÛÁéõ ™öé. ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ©Û¾Û¶Ûé …×−ùÛ›÷Ûé …Û¸ÛÈÛÛ¾ÛÛ× 
…ÛÈ¿ÛÛ ™öé.   (20) 

 (…) ÁõÛé�õÛ¨Û :   ÄõÛ. ÅÛÛ”Û¾ÛÛ× 

  (i) ÜÍ¬ÛÁõ Ü¾ÛÅÛ�õ©ÛÛé : ›÷¾Ûà¶Û-¾Û�õÛ¶Û 50 
      ¸ÅÛÛ¶¤ø ¿Û×ªÛÛé 60 
      ºõÁõÜ¶Û˜ÛÁõ 05 
      …¶¿Û 05 

   (ii) ˜ÛÛÅÛä Ü¾ÛÅÛ�õ©ÛÛé : ˆ¶ÈÛé¶¤øÁõà 25 
      ÅÐéü¨ÛÛ 25 
      ÁõÛé�õ¦ø / ¼Ûê�õ 10 

 (¼Û) �õÛ¾Û•ÛàÁõà ¸Û¦ø©ÛÁõÛé : ÜÍ¬ÛÁõ 145 
      ˜ÛÜÅÛ©Û 155 
      …μÛÙ˜ÛÜÅÛ©Û 50 

 (�õ) �õÁõÈÛéÁõÛ¶ÛÛé −ùÁõ : 35 %. 

 (¦ø) ÈÛé˜ÛÛ¨Û¸ÛÛªÛ …é�õ¾ÛÛé : 50,000. 

 (ˆ) …¸ÛéÜ“Û©Û ¶ÛºõÛé : ÁõÛé�õÛ¿ÛéÅÛ ¾Ûæ¦øà ¸ÛÁõ ÈÛéÁõÛ ¸Û™öà 40%.  

   ÐüÁõàºõ …Û ›÷ ¸Ûó�õÛÁõ¶Ûà ¸Ûé−ùÛÉÛ …é�õ¾Û−ùà¥ø Äõ. 910 ÅÛé”Ûé ÈÛé˜Ûé ™öé. ©Û¾Û¶Ûé …éÈÛä ÅÛÛ•Ûé ™öé � éõ 
…Û ¶ÛÈÛà ¸Ûé−ùÛÉÛ¶Ûà ÈÛé̃ ÛÛ¨Û Ý�õ¾Û©Û ÐüÁõàºõ¶Ûà Ý�õ¾Û©Û �õÁõ©ÛÛ× ¶Ûà˜Ûà ÐüÉÛé ? …é�õ¾Û−ùà¥ø ¶ÛºõÛé ÉÛä×          
ÐüÉÛé ? 

 
4. (…) ÍÛ¾Û©Ûæ¤ø Ý¼Û−äù …¶Ûé ÈÛ’õÁéõ”Ûà¿Û ÍÛ¾Û©Ûæ¤ø Ý¼Û−äù ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û Í¸ÛÌ¤ø �õÁõÛé.  (8) 

 (¼Û) ¼Û¶¤øà � ×õ¸Û¶Ûà ©Û¾Û¶Ûé ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ¾ÛÛÜÐü©Ûà ¸ÛæÁõà ¸ÛÛ¦éø ™öé :  (12) 

ÈÛÌÛÙ ¸Û¦ø©ÛÁõ (Äõ) ¶ÛºõÛé (Äõ.) 

05/06 4,50,000 50,000 
06/07 5,30,000 70,000 

  •Û¨Û©ÛÁõà �õÁõÛé : 
  (i) ¶ÛºõÛ ›÷¬¬ÛÛ¶ÛÛé •Ûä¨ÛÛé«ÛÁõ. 
  (ii) ÜÍ¬ÛÁõ ”Û˜ÛÙ. 
  (iii) ÍÛ¾Û©Ûæ¤øÝ¼Û−äù. 
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  (iv) 06/07 ¶ÛÛ× ÈÛÌÛÙ ¾ÛÛ¤éø ÍÛÅÛÛ¾Û©Ûà •ÛÛÇÛé.  

  (v) ÜÍ¬ÛÁõ ”Û˜ÛÙ¾ÛÛ× 25% ÈÛμÛÛÁõÛé ¬ÛÛ¿Û ©¿ÛÛÁéõ ¶ÛÈÛä ÍÛ¾Û©Ûæ¤ø Ý¼Û−äù. 

  (vi) š¿ÛÛÁéõ ÈÛé˜ÛÛ¨Û Äõ. 8,00,000 ÐüÛé¿Û …¶Ûé ÜÍ¬ÛÁõ ”Û˜ÛÙ¾ÛÛ× 25% ÈÛμÛÛÁõÛé ¬ÛÛ¿Û ©¿ÛÛÁéõ ¶ÛºõÛé 
� éõ¤øÅÛÛé ÐüÉÛé. 

  (vii) ÈÛÌÛÙ 06/07 ¾ÛÛ× ÜÍ¬ÛÁõ ”Û˜ÛÙ 25% ÈÛμÛÛÁõÛé ¬ÛÛ¿Û ©¿ÛÛÁéõ ÍÛÅÛÛ¾Û©Ûà¶ÛÛé •ÛÛÇÛé. 

  (viii) ˜ÛÜÅÛ©Û ”Û˜ÛÙ¾ÛÛ× 10% ¶ÛÛé ÈÛμÛÛÁõÛé ¬ÛÛ¿Û …¶Ûé 06/07 ¶ÛÛ× ÈÛÌÛÙ ›÷é¤øÅÛÛé ›÷ ¶ÛºõÛé �õ¾ÛÛÈÛÈÛÛé ÐüÛé¿Û 
©ÛÛé �éõ¤øÅÛä× ÈÛé˜ÛÛ¨Û ›÷ÄõÁõà ™öé. 

…¬ÛÈÛÛ 

4. (…) ÁõÛé¼Û¤Ùø …é¶¬Û¶Ûà¶ÛÛ× ¸Ûó¾ÛÛ¨Ûé “›÷ÈÛÛ¼Û−ùÛÁõàÅÛ“Ûà ÜÐüÍÛÛ¼Ûà ¸Û±ùÜ©Û …é …éÈÛÛ ¸Ûó�õÛÁõ¶Ûà ÍÛ×˜ÛÛÅÛ�õà¿Û 
ÜÐüÍÛÛ¼Ûà ¸Û±ùÜ©Û ™öé ›÷é …Û¿ÛÛéœ÷©Û …¶Ûé ”ÛÁéõ”ÛÁõ ÜÐüÍÛÛ¼Ûà ¾ÛÛÜÐü©Ûà ¼Û¶¶Ûé, ›÷ÈÛÛ¼Û−ùÛÁõà¶ÛÛ× �éõ¶®ùÛé¶ÛÛ× 
…¶ÛäÍÛ×μÛÛ¶Û¾ÛÛ× …é�õªÛ �õÁéõ ™öé …¶Ûé ©Ûé¶ÛÛ …ÐéüÈÛÛÅÛ¶Ûà Áõ›æ÷…Û©Û �õÁéõ ™öé.” (12) 

  Š¸ÛÁõ¶Ûà È¿ÛÛ”¿ÛÛ¶Ûà ¿ÛÛé•¿Û©ÛÛ Í¬ÛÛ¸ÛÈÛÛ ¾ÛÛ¤éø ÍÛ¾Û›÷ÛÈÛÛé. 

  (i) ›÷ÈÛÛ¼Û−ùÛÁõàÅÛ“Ûà ÜÐüÍÛÛ¼Ûà ¸Û±ùÜ©Û¶ÛÛ× ÅÛ“Û¨ÛÛé. 

  (ii) ›÷ÈÛÛ¼Û−ùÛÁõàÅÛ“Ûà ÜÐüÍÛÛ¼Ûà ¸Û±ùÜ©Û¶ÛÛ× � éõ¶®ùÛé ¤æ×ø�õ¾ÛÛ×.  

 (¼Û) ºéõÁõ¼Û−ùÅÛà Ý�õ¾Û©Û Ü¶ÛμÛÛÙÁõ¨Û Š¸ÛÁõ ¶ÛÛêμÛ ÅÛ”ÛÛé. (08) 

 

5. •Û¾Ûé ©Ûé ¼Ûé :   (20) 

 (…) μÛ×μÛÛ�õà¿Û …é�õ¾Û¶Ûà ÈÛèÜ±ù¶Ûé ¾ÛÛ¸ÛÈÛÛ¶ÛÛ× ›ä÷−ùÛ ›ä÷−ùÛ ¾ÛÛ¸Û−×ù¦øÛé ÍÛ¾Û›÷ÛÈÛÛé. 

 (¼Û) ÍÛ×˜ÛÛÅÛ�õà¿Û ÜÐüÍÛÛ¼Ûà ¸Û±ùÜ©Û …¶Ûé È¿ÛäÐüÛ©¾Û�õ ÍÛ×˜ÛÛÅÛ�õà¿Û ÜÐüÍÛÛ¼Ûà ¸Û±ùÜ©Û ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û Í¸ÛÌ¤ø 
�õÁõÛé. 

 (�õ) μÛ×μÛÛ�õà¿Û …é�õ¾Û¶Ûà ¾ÛÛ×−ù•Ûà …×•Ûé¶ÛÛ× ÜÐüÍÛÛ¼Ûà ÜÈÛÊÅÛéÌÛ¨Û ÜÈÛÉÛé ¶ÛÛêμÛ ÅÛ”ÛÛé. 

 (¦ø) μÛ×μÛÛ�õà¿Û � ×õ¸Û¶Ûà¶Ûà �õÛ¾Û•ÛàÁõà ¾ÛÛ¸Û¶Û¶Ûà …é�õ ¸Û±ùÜ©Û ©ÛÁõà�éõ ÁõÛé�õÛ¨Û ¸ÛÁõ ÈÛÇ©ÛÁõ¶ÛÛé −ùÁõ ÍÛ¾Û›÷ÛÈÛÛé. 
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1. The following data has been obtained from the books of Radhi manufacturing for the 

six month ending on 31-3-07. (20) 

      (Rs. 000) 
Months Quantity 

(Units) 
Semi Variable 

cost (Rs.) 
Variable Cost 

(Rs.) 
Fixed Cost 

(Rs.) 
Oct. 06 200 50 30.00 12 
Nov. 06 216 52 32.40 12 
Dec. 06 240 56 36.00 12 
Jan. 06 376 76 56.40 12 
Feb. 06 352 72 52.80 12 
March 06 304 64 45.60 12 

  You are asked to : 
 (i) Separate the Semi variable cost into fixed cost and variable cost by using least 

square method. 
 (ii) It is estimated that in the month of April 07  350 units will be produced. Estimate 

total cost for production of 350 units. 
 (iii) Calculate co-efficient of determination. 
 (iv) Calculate standard error. 

OR 
1. (a) What is optimum solution ? How would you determine it under Linear 

programming ? (5) 
 (b) Role of constraints in linear programming. (5) 
 (c) Geeta Company wants to determine optimum product mix to generate maximum 

profit. But this company having some constraints. You are provided the following 
information of two products to give advice, that how many units of each product 
should be produced to achieve desired goal. 

  Company manufactures two products Gama & Beta. Total available hours are 
2,700. Two special equipments are used to produce these products. Consumption 
of hours and other information are as follows : (10) 

 
A (Hrs.) B (Hrs.) Selling price 

per unit 
Variable 

cost per unit 

Gama 3 6 25 18 
Beta 6 5 28 22 

Equipment
s 

Products 
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2. (a) “The difference of revised standard and actual is known planning variance while 
difference between original standard and revised standard is known as operating 
variance.” Do you agree with this statement ? Explain your answer with 
illustration.  (5) 

 (b) From the following information prepare reconciliation statement showing reasons 
for difference between actual and expected profit. (15) 

Particulars 
Expected Units 

80,000 
Actual Units 

70,000 

 Rs. Rs. 

Sales 64,00,000 58,80,000 
   

Direct Material Cost 25,60,000 25,20,000 

Direct Labour Cost 8,00,000 7,56,000 

Variable overhead 12,80,000 12,60,000 

Fixed overhead 3,20,000 3,36,000 

   Other Information : 

Particulars Expected  Actual 

Consumption of Raw material 4 kgs 4 kgs 
Material cost per kg Rs. 8 Rs. 9 
Labour hours per unit 5 4.50 
Labour cost per hour Rs. 2 Rs. 2.40 
Variable expenses per Labour hour Rs. 3.20 Rs. 4.00 
Per unit fixed cost Rs. 4 Rs. 4.80 

OR 

2. Due to price rise in all behavioural costs, to maintain its profit level Philips company 
had increased its selling price by 25% in the year 06/07 as compared to previous year 
05/06. This price rise in selling price is the result of increase in variable cost by 20% 
and fixed cost by 15%. In spite of increase in selling price the profit for the year 06/07 
was Rs. 9.5 as compared to profit of Rs. 27.5 of previous year 05/06. (20) 

 Other additional information was as follows : 

2005/06 2006/07 
Particulars 

(Rs. in Crores) 
Sales 300 324 
Variable cost 250 287.50 
Fixed Cost   22.5   27 
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 You are asked to compute and analyse all relevant variances which have influence on 
reduction in profit. 

3. (a) Explain Skimming Pricing Policy and Penetration pricing policy in the context of 
new product. (8) 

 (b) Discuss about different factors which are essential to consider before determining 
the selling price. Which parties are concerned with this decision and how they are 
influencing to this decision. (12) 

OR 

3. Anish Company Limited is contemplating to introduce new product in the market. The 
following estimates are provided to you. (20) 

 (a) Investments :  Rs. (Lakhs) 
  (i) Fixed Assets : Land and Building 50 
      Plant Machine 60 
      Furniture 05 
      Others 05 

   (ii) Current Assets : Inventory 25 
      Receivables 25 
      Cash / Bank 10 
 (b) Operational costs : Fixed 145 
      Variable 155 
      Semi Variable 50 
 (c) Corporate tax rate : 35%. 
 (d) Number  of units to be sold : 50,000. 
 (e) Profit to be earned : 40% on capital employed after tax. 
  The Competitor of the company is selling same product for Rs. 910 per unit. Do 

you think that your price will be less than price of competitor ? What will be per 
unit profit ? 

 
4. (a) Distinguish between break-even point and curvilinear break-even point. (8) 
 (b) Bunty company has provided the following accounting information to you : (12) 

Year Cost Profit 

05/06 4,50,000 50,000 
06/07 5,30,000 70,000 

  You are asked to Calculate : 
  (i) Profit volume ratio. 
  (ii) Fixed cost. 
  (iii) Break-Even Point. 
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  (iv) Margin of Safety for 06/07. 
  (v) New Break-Even Point when Fixed cost is increased by 25%. 
  (vi) Amount of profit when sales is Rs. 8,00,000 and fixed cost is increased by 

25%. 
  (vii) What will be margin of safety in 06/07 when fixed cost is increased by 25%. 
  (viii) Sales to be made to earn same amount of profit in 06/07 when variable cost 

is increased by 10%. 
OR 

4. (a) Robert Anthony said “Responsibility accounting is that type of management 
accounting that collects and reports both planned and actual accounting 
information in terms of responsibility centres.” (12) 

  To establish authenticity of this definition explain 
  (i) Features of responsibility accounting. 
  (ii) Different responsibility centres in brief. 

 (b) Write short note on “Transfer Pricing”. (08) 
 
5. Attempt any two : (20) 
 (a) Explain various criteria of measuring growth for business enterprises. 
 (b) Distinguish between Management Accounting and Strategic Management 

Accounting. 
 (c) Write a note on Accounting Analysis of Business Sickness. 
 (d) Explain the concept of return on investment as technique to measure performance 

of business. 
    

 
 

   
 

 

 


